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Uppgift 12.4

Deluppgift A
Vi skall 16sa ekvationen
x 2 1 2
201 2 x|
P(x)—1 9 ¥ 2—0.
2 x 2 1
Losning:
d 124 po1 o2 s v 12 21
P(x) = = =(x—112 2 x|+(1—-x)2 1 2
1 2 x 2 1 2 X 2 1 x 2 1 2
2 x 2 1 0 x—1 0 1—x
dar
x 1 2
2 2 x| =x|? x|—2 x|+2|2 2|=x(4—x2)—(4—x)+2(2x—2)=—x3+9x—8
x 2 1 2 1 x
1 x 2
och
x 2 1
_ 1 21 512 2 2 1] _ N _ 4y — 2
2 1 2—x|2 : 2|1 x|+|1 2|—x(x 4)—202x—-2)+(@4—-1)=x>—8x+7
1 2 x
sa att

P(x)=(x—-1D[-x34+9x—-8]+ (1 —x)[x2—8x+7] = —x*+18x%> —32x + 15 =
=—(x—=3)(x—-1?*(x+5).

Alltsa ar
Px) =0 x€{-5,1,3}
(dar ettan ar en dubbelrot).

Deluppgift B
2—t -2 -1
2—t 1 -2 1 -2 2-t
-2 2-t 1 |[=@2-0 - (=2) + (-1 =
_1 1 5_¢ | 1 5—t| |—1 5—t| |—1 1 |
=Q2-D[C-)GE-t)-1]+2(-2G6-D)+D—-(-2+2-1) =
=—t34+9t2-18t=—-t(t—-3)(t—6) =0t €{0,3,6}.
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